

# DERIVAREA FUNCȚIILOR COMPUSE

Calculați  $f'(x)$  și  $g'(x)$   
 În fiecare din situațiile  
 următoare:

1)  $f(x) = \sin(\ln(\cos x))$  și  
 $g(x) = \cos^3(\ln \sqrt{x})$

2)  $f(x) = \sin(\ln^3(5x+1))$  și  
 $g(x) = 2^{\cos^3(\sin x)}$

3)  $f(x) = 2^{\sin x^3}$  și  $g(x) = \sin^3(2^x)$

4)  $f(x) = \cos^3(\sin x)$  și  
 $g(x) = \operatorname{tg}(\arcsin x)$

5)  $f(x) = \arcsin \frac{3x+1}{\cos x}$  și

$g(x) = 2^{\sin(\cos x)}$

6)  $f(x) = \sin^4(\cos(\ln x))$  și

$g(x) = \sqrt[5]{\sin(\cos \frac{x^2}{\operatorname{tg} x})}$

7)  $f(x) = \operatorname{ctg}(\arccos \frac{\log_3 x}{\sqrt{x}})$

și  $g(x) = \log_5(e^{e^x})$

8)  $f(x) = \sqrt{\sin x}$  și  $g(x) = \frac{1}{\sin^3 x}$

9)  $f(x) = \sqrt[3]{\operatorname{arctg}^2 x}$  și

$g(x) = \operatorname{arctg}^2(\sqrt[5]{x})$

10)  $f(x) = \operatorname{ctg}(\arcsin \frac{2x+1}{x-3})$  și

$g(x) = \sin(\operatorname{arctg}((4x+1) \cdot \cos x))$

11)  $f(x) = \ln(x^2 + x)$  și

$g(x) = \sqrt[5]{\sin^2 x + \cos x}$

Fie  $f(x) = \sin(\ln(\cos x))$  și  $g(x) = \cos^3(\ln \sqrt{x})$

Se cere  $f'(x)$  și  $g'(x)$

$$E_1) f'(x) = \left( \sin(\underbrace{\ln(\cos x)}_u) \right)' =$$

$$= \cos(\ln(\cos x)) \cdot (\ln(\cos x))'$$

$$E_2) f'(x) = \cos(\ln(\cos x)) \cdot \frac{1}{\cos x} \cdot (\cos x)'$$

$$f'(x) = \cos(\ln(\cos x)) \cdot \frac{1}{\cos x} \cdot (-\sin x)$$

---

$$E_1) g'(x) = \left( \cos^3(\ln \sqrt{x}) \right)' = 3 \cos^2(\ln \sqrt{x}) \cdot (\cos(\ln \sqrt{x}))' =$$

$$= 3 \cos^2(\ln \sqrt{x}) \cdot (-\sin(\ln \sqrt{x})) \cdot (\ln \sqrt{x})' =$$

$$= 3 \cos^2(\ln \sqrt{x}) \cdot (-\sin(\ln \sqrt{x})) \cdot \frac{1}{\sqrt{x}} \cdot (\sqrt{x})' =$$

$$= 3 \cos^2(\ln \sqrt{x}) \cdot (-\sin(\ln \sqrt{x})) \cdot \frac{1}{\sqrt{x}} \cdot \frac{1}{2\sqrt{x}}$$

Fi  $f(x) = \sin(\ln^3(5x+1))$  și  $g(x) = 2^{\cos^3(\sin x)}$

Se cere  $f'(x)$  și  $g'(x)$

$f'(x) = ?$   
 $E_1) f'(x) = (\sin(\underbrace{\ln^3(5x+1)}_u))' =$

$$= \cos(\ln^3(5x+1)) \cdot (\ln^3(5x+1))'$$

$$E_2) f'(x) = \cos(\ln^3(5x+1)) \cdot \left( \underbrace{(\ln(5x+1))^3}_u \right)'$$

$$= \cos(\ln^3(5x+1)) \cdot 3(\ln(5x+1))^2 \cdot (\ln(5x+1))'$$

$$= \cos(\ln^3(5x+1)) \cdot 3(\ln(5x+1))^2 \cdot \frac{1}{5x+1} \cdot (5x+1)' =$$

$$= \cos(\ln^3(5x+1)) \cdot 3(\ln(5x+1))^2 \cdot \frac{1}{5x+1} \cdot 5$$

$E_1) g'(x) = (2^{\cos^3(\sin x)})' = 2^{\cos^3(\sin x)} \cdot \ln 2 \cdot (\cos^3(\sin x))' =$

$$= 2^{\cos^3(\sin x)} \cdot \ln 2 \cdot 3 \cos^2(\sin x) \cdot (\cos(\sin x))' =$$

$$= 2^{\cos^3(\sin x)} \cdot \ln 2 \cdot 3 \cos^2(\sin x) \cdot (-\sin(\sin x)) \cdot \cos x$$

$$\text{Soit } f(x) = 2^{\sin x^3} \quad \text{et } g(x) = \sin^3(2^x) \quad (3)$$

Soit calculer  $f'(x)$  et  $g'(x)$

$$E_1) f'(x) = \left( 2^{\frac{\sin x^3}{u}} \right)' = 2^{\sin x^3} \cdot \ln 2 \cdot (\sin x^3)'$$

$$E_2) f'(x) = 2^{\sin x^3} \cdot \ln 2 \cdot \cos x^3 \cdot (x^3)'$$

$$f'(x) = 2^{\sin x^3} \cdot \ln 2 \cdot \cos x^3 \cdot 3x^2$$

$$E_1) g'(x) = (\sin^3(2^x))' = 3 \sin^2(2^x) \cdot (\sin(2^x))'$$

$$= 3 \sin^2(2^x) \cdot \cos(2^x) \cdot (2^x)' =$$

$$= 3 \sin^2(2^x) \cdot \cos(2^x) \cdot 2^x \cdot \ln 2$$

Calculati  $f'(x)$  și  $g'(x)$  dacă

4

$$f(x) = \cos^3(\sin x) \text{ și } g(x) = \operatorname{tg}(\arcsin x)$$

---

$$\begin{aligned} E_1) f'(x) &= (\cos^3(\sin x))' = 3 \cos^2(\sin x) \cdot (\cos(\sin x))' = \\ &= 3 \cos^2(\sin x) \cdot (-\sin(\sin x)) \cdot (\sin x)' = \\ &= 3 \cos^2(\sin x) \cdot (-\sin(\sin x)) \cdot \cos x \end{aligned}$$

---

$$\begin{aligned} E_2) g'(x) &= (\operatorname{tg}(\arcsin x))' = \frac{1}{\cos^2(\arcsin x)} \cdot (\arcsin x)' = \\ &= \frac{1}{\cos^2(\arcsin x)} \cdot \frac{1}{\sqrt{1-x^2}} \end{aligned}$$

Calculați  $f'(x)$  și  $g'(x)$  pentru

$$f(x) = \sin^4(\cos(\ln x)) \text{ și } g(x) = \sqrt[5]{\sin(\cos \frac{x^2}{\operatorname{tg} x})}$$

$$E1) f'(x) = (\sin^4(\cos(\ln x)))' = 4 \sin^3(\cos(\ln x)) \cdot (\sin(\cos(\ln x)))' =$$

$$= 4 \sin^3(\cos(\ln x)) \cdot \cos(\cos(\ln x)) \cdot (\cos(\ln x))' =$$

$$f' = 4 \sin^3(\cos(\ln x)) \cdot \cos(\cos(\ln x)) \cdot (-\sin(\ln x)) \cdot \frac{1}{x}$$

$$E2) g'(x) = \frac{1}{5 \cdot \sqrt[5]{(\sin(\cos \frac{x^2}{\operatorname{tg} x}))^4}} \cdot (\sin(\cos \frac{x^2}{\operatorname{tg} x}))'$$

$$= \frac{1}{5 \sqrt[5]{(\sin(\cos \frac{x^2}{\operatorname{tg} x}))^4}} \cdot (\cos(\cos \frac{x^2}{\operatorname{tg} x})) \cdot (-\sin \frac{x^2}{\operatorname{tg} x}) \cdot (\frac{x^2}{\operatorname{tg} x})'$$

$$= g_1(x) \cdot \frac{(x^2)' \operatorname{tg} x - x^2 \cdot (\operatorname{tg} x)'}{\operatorname{tg}^2 x} =$$

$$= g_1(x) \cdot \frac{2x \operatorname{tg} x - x^2 \cdot \frac{1}{\cos^2 x}}{\operatorname{tg}^2 x}$$

$$g'(x) = \frac{1}{5 \sqrt[5]{(\sin(\cos \frac{x^2}{\operatorname{tg} x}))^4}} \cdot \cos(\cos \frac{x^2}{\operatorname{tg} x}) \cdot (-\sin \frac{x^2}{\operatorname{tg} x}) \cdot \frac{2x \operatorname{tg} x - \frac{x^2}{\cos^2 x}}{\operatorname{tg}^2 x}$$

11

$$\text{Fie } f(x) = \ln(x^3 + x), \quad g(x) = \sqrt[5]{\sin^2 x + \cos x}$$

$$f'(x) \text{ si } g'(x)$$

---


$$E_1) f'(x) = \left( \ln(\underbrace{x^3 + x}_u) \right)' = \frac{1}{x^3 + x} \cdot (x^3 + x)'$$

$$\text{si-a folosit: } (\ln u)' = \frac{1}{u} \cdot u'$$

$$E_2) f'(x) = \frac{1}{x^3 + x} \cdot (3x^2 + 1) = \frac{3x^2 + 1}{x^3 + x}$$

---


$$E_1) g'(x) = \left( \sqrt[5]{\sin^2 x + \cos x} \right)' = \frac{1}{5 \sqrt[5]{(\sin^2 x + \cos x)^4}} (\sin^2 x + \cos x)'$$

$$= \frac{1}{5 \sqrt[5]{(\sin^2 x + \cos x)^4}} \cdot (2 \sin x \cdot \cos x - \sin x)$$